Tetris(N:=1) Pair Correlation:
#bins=100, #tiling points = 4
Time Taken: 3.65369 sec (0.0608948 mins)
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Tetris(N:=2) Pair Correlation: Tetris(N:=2) Pair Correlation:
#bins=100, #tiling points = 17 #bins=100, #tiling points = 17
Time Taken: 3.84971 sec (0.0641618 mins) Time Taken: 3.84971 sec (0.0641618 mins)
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Tetris(N:=3) Pair Correlation: Tetris(N:=3) Pair Correlation:
#bins=100, #tiling points = 40 #bins=100, #tiling points = 40
Time Taken: 3.89296 sec (0.0648827 mins) Time Taken: 3.89296 sec (0.0648827 mins)
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Tetris(N:=4) Pair Correlation:
#bins=100, #tiling points = 167
Time Taken: 4.59728 sec (0.0766213 mins)
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Tetris(N:=1) Pair Correlation: Tetris(N:=1) Pair Correlation:
#bins=125, #tiling points = 4 #bins=125, #tiling points = 4
Time Taken: 4.38439 sec (0.0730731 mins) Time Taken: 4.38439 sec (0.0730731 mins)
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Tetris(N:=2) Pair Correlation: Tetris(N:=2) Pair Correlation:
#bins=125, #tiling points = 17 #bins=125, #tiling points = 17
Time Taken: 4.45683 sec (0.0742804 mins) Time Taken: 4.45683 sec (0.0742804 mins)
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Tetris(N:=3) Pair Correlation:
#bins=125, #tiling points = 40
Time Taken: 4.53719 sec (0.0756199 mins)
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Time Taken: 4.53719 sec (0.0756199 mins)
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Tetris(N:=4) Pair Correlation: Tetris(N:=4) Pair Correlation:
#bins=125, #tiling points = 167 #bins=125, #tiling points = 167
Time Taken: 5.14644 sec (0.0857739 mins) Time Taken: 5.14644 sec (0.0857739 mins)
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Tetris(N:=1) Pair Correlation: Tetris(N:=1) Pair Correlation:
#bins=150, #tiling points = 4 #bins=150, #tiling points = 4
Time Taken: 4.92334 sec (0.0820557 mins) Time Taken: 4.92334 sec (0.0820557 mins)
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Tetris(N:=2) Pair Correlation:
#bins=150, #tiling points = 17
Time Taken: 5.0501 sec (0.0841683 mins)
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#bins=150, #tiling points = 17
Time Taken: 5.0501 sec (0.0841683 mins)
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Tetris(N:=3) Pair Correlation:
#bins=150, #tiling points = 40
Time Taken: 5.09169 sec (0.0848615 mins)

Tetris(N:=3) Pair Correlation:
#bins=150, #tiling points = 40
Time Taken: 5.09169 sec (0.0848615 mins)
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Tetris(N:=4) Pair Correlation: Tetris(N:=4) Pair Correlation:
#bins=150, #tiling points = 167 #bins=150, #tiling points = 167
Time Taken: 5.83461 sec (0.0972436 mins) Time Taken: 5.83461 sec (0.0972436 mins)
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Tetris(N:=1) Pair Correlation:
#bins=350, #tiling points = 4
Time Taken: 6.83523 sec (0.113921 mins)
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Time Taken: 6.83523 sec (0.113921 mins)
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Tetris(N:=2) Pair Correlation: Tetris(N:=2) Pair Correlation:
#bins=350, #tiling points = 17 #bins=350, #tiling points = 17
Time Taken: 6.93028 sec (0.115505 mins) Time Taken: 6.93028 sec (0.115505 mins)
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Tetris(N:=3) Pair Correlation: Tetris(N:=3) Pair Correlation:
#bins=350, #tiling points = 40 #bins=350, #tiling points = 40
Time Taken: 6.96888 sec (0.116148 mins) Time Taken: 6.96888 sec (0.116148 mins)
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Tetris(N:=4) Pair Correlation:
#bins=350, #tiling points = 167
Time Taken: 7.63275 sec (0.127212 mins)
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Tetris(N:=4) Pair Correlation:
#bins=350, #tiling points = 167
Time Taken: 7.63275 sec (0.127212 mins)
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